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class MyFamily {
private String name;
private int age;

IAYANITINES

MyFamily (String name, int age) {
( 2 1
( 2 ]

}

IIZRPEDEHRZFRRIDAVYR
void display() {
System.out.printn( { 2?2 1);
}
}

public class Prog1005_1{
public static void main (String[] args){
HATZ1IMOERR. AV ANSIHIDEIT
MyFamily father = new MyFamily("hiroshi",50);
MyFamily mother = new MyFamily("midori",45);
MyFamily brother = new MyFamily("taro”,20);
IIZRIEDBROER R

( 2 1
( 2 1
( 2 1

}

I* EITHESR

Name: hiroshi,Age: 50
Name: midori,Age: 45
Name: taro,Age: 20

*/
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import java.io.*;
class Ticket{
int numberOfA = 10;
int numberOfB = 10;
int valueOfA = 1000;
int valueOfB = 2000;
public int getTicket(int n){

return O;
}
}
class ATicket extends Ticket {
public int getTibket (int n){
if(numberOfA-n >=0) {
numberOfA = numberOfA-n ;
return valueOfA*n ;
}else {
return -1;
}
}
}
class BTicket extends Ticket {
public int getTicket (int n){
if(numberOfB-n >=0) {
numberOfB = numberOfB-n ;
return valueOfB*n ;
}else {
return -1;
}
}
}
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public class Prog1005_2{
public static void main(String[] args) throws IOException {
BufferedReader in = new BufferedReader(new InputStreamReader(System.in));
System.out.print("F 4w ~ERI=");
char ¢ = in.readLine().charAt(0); HF4ow SMERIZE A
System.out.print("F4o v SMEE=");
int n = Integer.parselnt(in.readLine()); //F4 v & E AN
Ticket t = new Ticket();
switch( c )
case 'a"
t = new ATicket();
break;
case 'b"
t = new BTicket();
break;
default:
System.out.printin("F& v MMERINREIED TLET™);
break;
}
intv = t.getTicket(n);  /BEAMIZDTE
if(v >=0) {
System.out.printin("§& A{fi#% = "+v);
}else {
System.out.printin("TEENENAE L TLET);
}

[* EITHER
Fowv SER= a
Fowv M= 10
E§ A {fi4& = 10000

*/
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a7E Y (Bat). "¢ (Snake) Z¥f2o% X F (Chimera)

interface Lion{
String body ="5UL\HB A",
void breath();

}

interface Bat{
String wing="C 3> D MDE";
void fly();

interface Snake(){
String tail="1EMDEE";

}

class Chimera implements Lion, Bat, Snake {
public void breath(){

System.out.printin(body + "(&. &K%z (LLVE™);

}
public void fly(){
System.out.printin(wing + "TZ2% & ATE™;

public void poison(){
System.out.printin(tail + "HF& DU,

System.out.printin(" &£ < (CHBMENTE;

}

public class Prog1005_3{
public static void main(String[] args){
Chimera chimel = new Chimera();
System.out.printin("FF X S MNIRN/=");

chimel.breath();
chimel.fly();
chimel.poison();
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ul

ki 4.

A > %7 =A% Human
¥, body 134, skill 1Z#: T, &b 5 % String Y
Il TREJIF84H ) DR A Y v K4 = ability : 5IEHEL, RV EHEL

[ ***********] {

[rrmix] =" AR 1D 4 i
[#rxxxx] ="BRFAREE:  [H DL
[Hremeex] /I TREN ¥ ofigex Y v R

}
I > %7 = A A Dragon

%%, power T3LF4)
Il 125 ofig A Y v R4 =shapeChange : BIHEEL, RV EEL
Il T8 OfZ A Y v R4 = attack DogEIEL . RV EME L
[***********] {
[*******] :"?@@jj";
[ ] I TEg) oAy v R
[ ] 1 (Y& gAY » K
}
// Human, Dragon @237 < A DragonMan
class DragonMan  [*#exskksens] [
[Frmrnr] { Il TREJIFEHH ) DFEAY v K
System.out.printin(body + "D %" + skill +" L 7=");
}
[frwenx] L] T ] DFEAY v R
System.out.printin("& (2 A& L7=");
}
[Frwesex] {0 f] THREE] DEAY v R
System.out.printin(power + " TXE L 7=");

}

public class Prog1005_4{
public static void main(String[] args){
DragonMan dm = new DragonMan();
System.out.printin("#& A 23 HAL7=");
dm.ability();
dm.shapeChange();
dm.attack();

}

I FEATHRE R

$java Prog1008_4
wmANBLALTZ
ANEOZEChiiBE) L1
HICEE LT

O THELT-

*/
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import java.lang.String;

import java.lang.System;

import java.util.Calendar;

import static java.util.Calendar.*;

public class MondayCalendar {

public static void main(String[] A00) {

Calendar cal = Calendar.getInstance();
int year = cal.get(YEAR);
int month = cal.get(MONTH);
cal.set(year, month, 1);
int day = cal.getActualMaximum(DAY_OF_MONTH);
int dweek = cal.get(DAY_OF_WEEK);

System.out.printf("%d &£%2d BDHL >4 —%n", year, month + 1);
System.out.printin("BA X K K & £ H");

/] ZEOEEEKRDHD
inti;
if (dweek < MONDAY) {
i = (dweek + 7) - MONDAY;

} else {

i = dweek - MONDAY;
b
intk = 0;

for (intj=0;j<i;j++){
System.outprint(" ");

k++;
b
for (intj = 1; j <= day; j++) {
if (I <6){
System.out.printf("%2d ", j);
» else {
System.out.printf("%2d¥n", j);
b
i=++i%7;
b
b
b
/*
FITHR

C:¥JAVA>java MondayCalendar
2014 £ 10 BoAHL >4 —
HXKXKAK&E ITH

1 2 3 45
6 7 8 9101112
1314151617 18 19
20 21 22 23 24 25 26
27 28 29 30 31
*/




